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11,

12.

13.

5
-9 (Group - A)

w7 5 G405 A8 T4l ¢ (Choose the correct answer )

o Al ama L@z e T

Which of the following statements about the reaction below are incorrect ?

Zn(+ C—=>2Zn+CO i o ,
(i) BV &1 T2 (Carbon is getting oxidised) (i) % w1 F%e STAE (Z7% (Carbon monoxide s getting oxidsed)

(i) &% e Tz (Zinc is getting reduced)  (iv) (e vgs 5T (278 (Zinc oxide is getting reduced)
(b) (i) ™ (and ] (iv)

(a) (i) S (and ) (iii) ar
(c) (i), (i) ®01<E (and ) (iv) (d) €7@ HHIZZFEDT (all of the above)

fs sfq fom erg ZRG olee ufos @R ofte @ F zm?

What happens when dilute hydrochloric acid is added to iron fillings ?

(a) I3E9 719l S 21! G977 24 (Iron salt and water are produced)

(b) FR (R 23 TRG FRT GO T (Chlorine gas and iron hydroxide are produced)
(c) Z3TTEA (512 W% Hi34 '2ZT B2 T (Hydrogen gas and iron chloride are produced) -
(d) (It AT A6 (No reaction takes place)

1x45=45

CaC0,(s) = CaO(s)+CO,(g)
Go/q IG5 481 - (The above reaction is 2 -]
th) {7 Tormae @& (Double displacement reaction)

(a) A RIF (Combination reaction)
(c) ﬁmmﬁﬁm(Decomposit:onreactron]
fafoe =i%wias apnafe wires 7’8 - (Chemical formula for bleaching powder is -)

(a) Co(OH), (b) NaHCO (c) CaOCl, {d) No,CO,

W T B @fﬂ% | {Tooth enamel is made up of -)

(a) (AN YeitkS (Calcium Sulphate) (b) @=fzar= TF5 (Calcium Phosphate)

(c) =@M FHEAS (Calcium Carbonate) (d) (EFIEEE E9%E (Calcium Chloride)

<5 732 oS IR R TR (RIeE TS Rl =R b (o Term A | (SRR oA (R A, TS A -
A solution reacts with crushed egg-shells to give a gas that turns lime-water milky. The solution contains-
(a) NaCl (b) HCI (c) Lill (d) kCI

IR T 3R TR 427 71 1R ARLT 9 (SR T C LT T

Which of the following method is suitable for preventing an iron frying pan from rusting ?

(d) L##ae FATET (Displacement reaction)

(a) 1% 32T E (Applying grease) (b) & ATTR TR (Applying paint)

(c) [Erema eTest 7 (Applying a coating of zinc) (d) 2<% 7T (All of the above)

TEq (WK 4% u?ﬁm @ WA (ARG« (Which of the fellowing metalis found in nature inthe free state ?)
(a) K (b} Na (c) Ca (d) Au

A< (FRy e FHIfACE 7re a2z (Which of the following metal can be easily cut with a knife ?)
(3) Co {(b) K (c) Mg (d) Cu

PR (CH) & 401S ®IT% - (Ethane, with the molecular formula (C,H,) has -]

(a) 601 F2CIME AFE (6 covalent bonds) (b) 77T FEIAIG I (7 covalent bonds)

(c) 8Dl AZCAIE) AEH (8 covalent bonds) (d) 95 7ZATE] AFA (9 covalent bonds)

(! AT o TR T1% T4 - {Propanal is a compound with the functional group -)

(a) @FTIZT (Aldehyde) (b) =ETEE=R 9% (Carboxylic acid)

(c) <=1%%’# (Alcohol) (d) =57 (Ketone)

AR (FRTH, T AMA%AIR GG 72T - (Which of the following is not Dobereiner's triad <)

(a) Li, Na, K (b) Ca, Sr, Ba (C)N, P, As (dYCl, Br. |

crafTS SN EEE RS B (TR e o e |
When Mendeliev started his work elements were known .

(a) 36 (b) 63 (c) 56 (d) 65 [ Contd.
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b

14, TR (7S TR0 I 3 - '

(a) I ﬁﬁﬁ'{? (Trans ¢ (The xylem in plants are responsible for -)
Port of water) (b) IR AT (Transport of food)

() < g ;
" @Lmﬁg qﬁ I \:‘lﬁﬂiﬁ [Trangpgrt of Amino acid) (d) @ﬁﬁ—.ﬁ -v‘,'f':é-?.'{r{ (Transport of Oxygen)
1 ¥S oA EI T - (The autotrophic mode of nutrition requires -)

COo. =\

:3 ﬁ?’ﬁ'\;jc()si,cn% ::d ".0) (b) S{FZRL {Chlorophyll)
16, I&H19 mﬂiw;{;_ )(Th | (d) 6o/} SOETIL01 (All of the above)

(a) =’ (Barometer) € instrument by which blood pressure is n_1easured )

(c) Wﬂmw (Sph (b) -L‘i‘:-?.g\fﬁ”ﬁ;bﬁ (Galvanometer)
17. 70! AR g Wwp gggoma"c’mﬂer) (d) TNOR (Thermometer)

(a) CoTEIZG (Dendri (P W - (The gap between two neurons is called as -)

2 endrite) (b) RREZ (Synapse) (c) 93 (Axon) (d) 2R (Impulse)

18. mf@ ﬂ@ﬁ. 9?7191% T =] #e A7 (Which plant hormone is responsible for fall of leaves?) -
IR (Cytokinin)  (b) RrIARM (Gibberelin) (<) SRR (Auxin)  (d) 951355 BT (Abscisic acid)

19. TG (P TR (777 759 A S T I W 7 2 ‘

Which part of the brain maintains posture and equilibrium of the body ?

(a) (ofRE™ (Cerebrum) (b) (5IRTIEN (Cerebellum) (¢} CXEe! (Medulla) (d) FAM (Crantum)
20. SSRGS *i ] Wfie (TICH TG - (Find out the mismatched pair from the following.)

(a) (BT ¢ mamm (Testosterone : Testis) (b) QfS7ARH s fE™M% (Adrenaline : Ovary)

(c) é@'ﬁsﬂ 3 fowrey (Qestrogen : Ovary) (d) %AW 3 URATE 57 (Thyroxine : Thyroid gland)
21. *RIITS (AR AT - (The anther contains -)

(a) RGATS (Sepals) (b) f&% (Ovules) (c) %) @R (Carpel)  (d) SAISTTAY (Pollen grains)
22, SR ST TPEAMA weefhe 33 - (Asexuai reproducticn takes place through budding in -)

(a) GFRTS (Amoeba)  (b) TATIE (Hydra)  (c) ¥ fGAIS (Plasmodium)  (d) (727 (AAEIS (Leishmania)

23. 9518 (FIARY Bl 43T 2 (Which of the following flower is unisexual ?)
(a) ©O€& (Watermelon) (b) SR (Hibiscus) (c) =TT (Mustard) (d) TR} (Tomato)

24, FTATE 25T B THIZAY 'S - (An example of homologous organs is -)
(a) TINIARAF IR TR (Our arm and adog's fore leg) (o) ST HE S TEAIT (Ourteeth and an elephent tusks)

(c) ] & S 4RE P (Potato and runners of grass) (d) 8=IRRTIBTEFZD! (All of the above)
25. (TR AR OT% TG 'R’ % TIE (79 'F I WO TS0 LA -

Relationship between the radius of curveture 'R' and focal length 'f’ of a spherical mirror is -

_t R
(a) f=2R (o) =% @ /=3 (d) R=2f
26, FICoAN LR ofa1 P 7R fn (RITRIan el iSR! A % ! Ao £ R 7 A

No matter how far you are from a mirror your image always appears erect. The mirror is likely to be -
(a) @ (Plane)  (b) SEeT (Concave]  (c) U (Convex)  (d) W E Tgdl B (Either plane or Convex)
27.-2:0 D HAGI (FTHR G¥H FPIE (7 - (The focal length of a lens of power —2:0 D is-)
(a) 0'50m (b) -10m (c) =0'50cm (d}-1'0cm
28. %S (AT %9 W - (Light travels in vaccum with speed of -)
(@) 2x10°7 (b} 3x10°M/ (c) 3x10*em/ (¢) 3x10°™/
20, 3 AS (AR FE ' S TG (AT TS V' X (ST HGA5H @ n, 32 -
If'C' is the speed of light in air and 'V'is the speed of light in the medium, the refractive index of the medium n,, is -
|4 C ,
@z (b) C¥ © 3 (d) cv?

30. WFZR 5FE & 4B1a 2SR 515 I9T T - (The human eye forms the image of an object at its - )
(a) S (Cornea) (b) F A (pupil (c) S50 (Retina)  (d) 5T o g
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1. 53 & 7.4 (IR A0 5T ETHRIAL ey A4qs zu ¢

The change in focal length of an eye lens is caused by the action of the -

(a) 553 9 (pupil) (b) S5 (Retina)  (c) BfF@d) (spT! (Cilliary muscles)  (d) 53 T (iris)
2. A4S S SIF WS T A HaFq A1y -

The time difference between actual sunset and the apparent sunset is -

(a) HiF2 fiff% (about 2 minutes) (b} &E3 faf% (about 3 minutes)

(c) &% 2 (39 (about 2 seconds) (d) @@ 5 fif¥% (about 5 minutes)

33, TER (IO APy (e fem wwer fari 7w e
Which of the following terms does not represent electrical power in a circuit ?
Vi

(a) I’R (b) IR? (c) ¥i (d) _‘;.
34, (afee *Ifed qRTRS 93 120 - (The commercial unit of electric energy is -)
(b) 3% TTI (Watt hour)  (c) 15 (=S (Watt second) (d) 30 (Wat)

(a) fer=Trai %1 (Kilowatt hour)
35, (FLISH S. |, §FS QL= - (The S. I. unit of resistivity is -)
(a) 8 (Ohm (©))  (b) €X-fBE (Ohm-meter)  (c) §# (Joule)
36. 12V RSITSHA 751 R TOSTA 2 i 5iers a7l fta el i afifa ?
How much work is done in moving a charge of 2C across two pnints having 3 potential difference of 12v?
(a) 241 (b)6) (c) 240 (d) 24 W
37, (AT &R1Z Tesfy 41 AGR - (The device used for producing electric current is called -)
(3) W54 (Motor) (b} (ST TSi01A (Galvanometer) (c) afiiG14 (Ammeter)  (d) (SALA0Y (Generator)

38, ARATTYE NI b (o36 D fEBIT (515 77 3l

The magnetic field inside a long straight solenoid carrying current
(a) ¥ (is zero)
(b) 311 AN FN T I (decreases as we move towards its end)
(c) I ARRFIET TP ﬂTfﬁ Y (increases as we move towards its end)
(d) FICA ﬁ"'{C@ 473 S (is the same at all points)
39, TG (R ATE TR AT - (At the time of short circuit , the current in the circuit -)
(a) L& sifue S W (reduces substantially) (b) el A%7 (does not change)
(c) J&< sifdeet A T (increases heavily) (d) &< TId He{el 29 (vary continuously)
20. 9e1q @D FRSA T TH THIZS9 72T 7 (Which of the followirg is notan example of a bio-mass energy source ?
(a) ¥R (Wood) (b) (A4S (5% (Gobar -Gas)  (c) et *f@ (Nuclear energy)  (d) ¥FETl (Coal)
i1, GF] (WD AT %Gz TeR? (Which of the following is a non conventional source of energy ?)
(a) SR (Fossil fuel) (b) TFe[& (Hydro power)
(c) Wﬂ‘ﬁ? (Wind energy) (dj fJegTE W& (Nuclear energy)
17 @eTe SrE N (FIAIRATE Ay 338 5197 #(42 (Which of the following constitute a food chain ?)
(a) qig, (d2 % S (Grass, wheat and mango) (b) W%, DRGIAIES R (Grass, goat and human)
(c) Wfﬁ, WW@ (Goat, cow and elephant) (d) gfz, 7 &i§ Q9fe] (Grass, fish and goat)
13. O (.?ﬂﬂfmﬁi ffsea SREA 754 7 (Which of the following is not a biodegradable waste ?)
(a) T (Paper) (b) &rf@ee W (Plastic packets)
(c) IO G| I Bfgn (Dead anim:als and plants) (d) - o5 3 (Peels of vegetables)
44, (TS &9 SRITSE GoAZO #mIde 727 391 2T - (When combustion takes place in insufficient air (oxygen) then -)
(a) C€O,TestA T (CO, is produced) (b) €O Tesfq T (CO is produced)
(c) N, &8 T (N, is produced) (d) '99<< 4B78 7ZF (None of the above)
15. zﬁﬁﬁ{ﬁ Gy T S I ____| (‘Coliform’ is a group of ____, found in human intestines.)
(a) (RTERA (Bacteria) (b) (59 (Fungi) (c) ©FZa (virus)  (d) @B°&q (Protozoa)

(d) ©TY’?61 (Diopter)
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¥ -E™ (Group - B)

L

46. \5e1 fAfFFa1 Remresa apirfe wfead fora -
Write the chemical equation of the following reactions -
(i) TOY T A A5t wiRare Cfrm wfrm (When iron reacts with steam) 1
(i) cafem =itbfeam aWiRrs cafemry um'erea A ffem a0 1

(When Potassium bromide reacts with Barium iodide)

47. STAA1A (411 51 2 AT (o1 57614 1 7R G| 1+1/2¢1/3=2

What is washing soda ? Write two uses of washing soda.
1221/0r

(G Qe (ofai3rgta afefes aw fo 2g1a At weraerht Fa | 1+1=2
What is the commercial name of Calcium sulphate hemihydrate ? Write its chemical formula.

48. &%14 (T1MAIAA 51w foa iz | 1+1=2
Draw the structures of the following compounds.
(i) 2AfIS afw (Ethanoic acid) (ii) bIEFTITH (Cyclohexane)

49. 711YE SIFIA 18 12 <514 CNATAAA (UTeedt Tmgeid ool 419 1) o1 Fvapt o 1+1=2
What is the usual number of valence electrons and valency of group 18 elements of the periodic table ?

50. WZA (I T <O e Ha wsaw a4 2
Draw the labelled diagram of the cxcretory system of human beings.

51. (A2 (TR i TS ST &l4- T w2R 341 20 | BB AT a7 A7 A T3n 2
A mixture of oxygen and cthyne is burnt for welding. Why a mixture of ethyne and air is not used ?

52. #S19 [F WE (A ITR e Aol 2 2
What is the difference between a reflex action and walking ? https://www.assamboard.com

53. Wfeles R f 2 el e b1 e 14122
What is vegetative propagation ? Write two advantages of vegetative propagation ?

54. TR <1 2efe Teafer Tt & & Yetmna wfezen cooma 2 2

What factors could lead to the rise of a new species ?
55. (SLE] (AR R (aif <o oRifts sReRee Teres wifte 3 e Sl a2
How do Mendel's experiments show that traits are inherited independently ?
56. SN TS TV T 385 (W a2 )
Why sun appears reddish during sunrise and sunset ?
57. (i) 2Q.3Q 9% 60 I fSlABI taies fRra wiscamst wfare Fidoa sgen e wwa
(3)4Q T (b)1) (AN TR? 1%+1%=3
How can three resistors of resistances 2(2,3(2 and () be connected to give a total resistance of
(@l4Q and (b)1 ?
(i) lkwh=? & (1kwh=? Joule) 1
58. G4 SfAEHAT oi12E ARTIS ACR (AR o431 RTI! 151 o Ry o | 2

Give any two ways in which biodegradable substances would affect the environment,
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o
59, (374 JSRE (F[F 44 RN IATHA IR TeB 70 o+ famy 14122
What kind of mirror would be best suited for use in a solar cooker and why ?
60. AT ¥~ {SRYET (5131 T HITsMet Q4 SFw APT 3m B | R sttoresra ora sm RO AYS <t g e
afefya g, 938 Wi o fefa 311 3
A convex mirror used for rear-view on an automobile has a radius of curvature of 3 m. If a bus is located
at 5 m from this mirror,find the position, nature and size of the image.

%1/

AR TG (614 FFTAS T7cm 83 WG D1 12cm AT T4 L0 (IO S AW 8em T AR
B 2316 T T e 4 |
If an object of 7cm height is placed at a distance of 12cm from a convex lens of focal length 8cm, find the
position, nature and height of the image.

61. fe-wobret Rfat a1 @I e OBt R-worrant R Sz B 141=2
What is double displacement reaction ? Give one example of double displacement reaction.

62. {8 +(1, = S+ 2HCl
G ofF FIACIDIE (INUBI SRR TR W (D! wigeid Rl b orent | % o R
R o e e 2+41=3

In the above reaction identify the subtance that are oxidised and the substance that are reduced.
State the name of this type of reaction ?

63. gﬁg@%mwmﬁmmemmwwmmwm
oftefa F | 1+2=3

In which part of cell, breakdown of glucose molecule into pyruvate molecules takes place ? Write two
difference between aerobic and anaerobic respiration.

64. 3% W ey onfit {3 i aftw aer e 4
Why should we conserve forests and wildlife ?

dedinei e
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